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January 14, 2021

Fluency Fifteen (Friday ]

Place Value
1. What is the value of the underlined digit? 6395.2
2. Use the symbols < > or = to make this correct.
35+5 108 + 12
3. Put these lengths in ascending order:
5Smm 5cm 60mm  4cm
. What is 25 more than 10757
. Round 1735 to the nearest hundred
. Round 4555 to the nearest ten

.3.8x10 =

© 00 N O O »

. What number is the arrow pointing to?

72— ———— ‘ —0
Addition and Subtraction
10. 3389 + 1290 =
11. Find the difference between 638 and 1582

Measurement

12. How many centimetres are in 3.8 metres?
13. Convert 5.6km into metres
Fractions
14. ?2 + 7 = 12
20 20 20

15. 75 - ?7 =25
100 100 100

. Complete the sequence: 5400, 5300, , ,5000,
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